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i world ?
. 1 cverine island in the wor
Which of the following is the largest inhabited riverine 13

iuli 6 Whi
(3) Majuli

(A) Doab o @)
(C) Umananda (D) / -
(E)  Question not attempted

ﬁqﬁﬁgﬁmaﬂwﬁmmgmqﬂﬁqmm (i)

(A) A (B
(C) 3uFE=r (D)

(A
(B)  rqafe wy

(E)

(!l
Which of the following river is nor a part of Indus River System ?
(A)  Satlyj (B) Chenab 7
(©)  Kosi (D) Ravi
(E)  Question not attempted
P 32l e g 7t ot a2 2
(A)  wags B) W
©) =i D) T

(B) srufmwn

Which of the following Lake is nof a Saline water lake in Rajasthan?
(A)  Pachpadra (B)  Sambhar
(©) Didwana

8
(D) Pichola
(E)  Question not attempted

ﬁqﬁﬁmﬁaﬂqmsﬁa@&mﬁﬁawﬁa
(A) wEvE

(B) ®h
o M fihen (e
(E) iquf@ws ‘@

Which of the following is the application of computer mostly used in medical field?
(A)  To provide assistance in surgery

" ; (B)  To create advertisemen

(C)  To visualize 3D objects (D)  Toprovide distance ed:u:ati 9
(E)  Question not attempted P
ﬁnﬁ@aﬁﬁwaﬁraﬂmmwﬁ;mg@m Pty dr & wifira

(A) e fafrcan f wemmr oy ®) ﬁTﬂN'-TiH-

(©) 3% virwrew H v D mﬁm‘iﬂ“ﬁm

(E) wrgafaug - Sl L

v .
.

.

Which of the following is not the class!category of computers?
(A)  Paralle] Computing

‘s (B)  Micro Computer

(C) Mini cl:ompmcr 5 i .

(E)  Question not attempted Puter .
ﬁﬂﬁlﬁﬂﬁﬁaﬁ:-zﬁmaiwﬂuﬁﬂm%:? ‘

(A) e Fofen

€ el : (B) - Vowm e

() e vy
® o _
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! : ' .- al= lP-Tp’

Seanmed with CamScannes


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addazs
oogle Play

6 Which Indi
ndian has won the 2023 Ramon Magsaysay Award? (Choose the most appropriatc option from below)

(A) Ravi Kannan (B) Kailash Vidyarthi
(C)  Ghazal Alagh (D)  Gautam Adani W
(E)  Question not atteropted ;;.:;,
o et 3 2023 1 00 A e shtan? (e it 2 e g e ) <
@) T fc; @) e Premdt [~
(€ TR (D) e 3rEr g
(E) Sai@ysd . -
i . |
7 Critical Minerals Summit 2024, was held in which of the following city / U.T.?
(A) Chennai Xe) (B) Mumbai \0
(©) NewDehi () (D) Kolkata Jd
(E)  Question not att‘empted ;
firfoae firen ol @ie) 2024, fre wret/ St o # sy fomar maT? (53]
(a) == = ® = Q-
(€ 3 feeeht :j (D) rerhrar 2
() SaRawH
Us] O
8 The famous speech by Bt; Jawahar Lal Nehru, addressed on the midnight of 14-15 August !9?7 is called
- (A) Tryst and Co-operation (B)  Tryst with destiny =
(C) Tried with dﬁ“efﬁ (D)  Tryst with honesty g
(E)  Question not an@pted o
14-15 37T&T 1947 1 ey Y afvea STaTE A e g e T SR HTSOT T ST € «=]
(a) frewsHsiRea ' ® Refrifet i
© st (D) Refene o
() ITI@IT ) m
S . e =3
9 The cities that were di-‘idzd into communal zones during the partition of India were- ™~
(A) Lahore, Bihar afid Calcutta (03]
(B) Lahore, Amritsérand Hyderabad o
(C) Lahore, Amritsa'g_?nd Calcutta :j
(D) Amritsar, Calcutta and Jammu & Kashmir
(E)  Question not atfeinpted 0
sereer 35 PTG it e MO AE e ™
(a) e, e s e N
(B) @TEN, AYaET : g
(C) TN, SAET ST ()
(D), ¥aHy, ATt sy FI ™
® ogam i
3
[ PT.O.
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10

11

12

13

Given below are two statements:

5 the chairmanship of
Statement (I): In April 1919, the Udaipur state government formed a Commission under

: ~ . T ers. The Commission
Mandalgarh Hakim Bindulal Bhattacharya. in order to listen to the Complaints of Bijolia farm ‘
advocated various recommendations for the benefit of the farmers,

. st atts should be made
Statement (I1): Officers of the Foreign Ministry of Indian govenment believed that a quick alliance shou

: in Rajputana.
with the Bijoliya Kisan Panchayat, otherwise the peasant movement may take a violent form in Rajp

In light of the above statements, choose the most appropriate answer from the options given below.

(A)  Statement (1) is incorrect but Statement (11) is correct.
(B) Both Statement (I) and Statement (1) are correct.

(C)  Both Statement (1) and Statement (I1) are incorrect.
(D)

Statement (1) is correct but Statement (1) is incorrect,
(E)  Question not attempted

e Ay Reme

(A) =97 () 7o @ S () v 3

(B) TR () wuT () IE wE
© =97 (1) SR F (1) HT e ) D) =7 () w& RS w7 () T R
(E) gaiaws

Which of the following is nor a type of Iron ore?

(A) Lignite (B)  Siderite

(C) Limonite (D) Magnetite

(E)  Question not attempted

Frafafes § & S e s w1 el

(a) fomme (B) eI (Rdug)

©) fadrme (D) e

(E) i us

Which of the following is an example of joint sector ind

ustry? (Choose the most appropriate option from below)
(A)  Bharat Heavy Electricals Limited (B)  Hindustan Aeronautics Limtied
(C)  Oil India Limited (D) Steel Authority of India Limiteq
(E)  Question not attempted
Frerferfiaa # & 27w s e zeion @ o sermo 2 (ﬁqﬁ%mmﬁmﬁ,
(A) T4 21 @fazaen fafize B) fegam WA fafne
~AC) e sfea fafaze (D) FIST ST 381 ¥y g
(E) qafagy

Which of the following is a mineral
(A) Food Processing Industry

(B)  Textile Industry
(C)  Fish Oil Industry (D) Petrochemicals lndustx)-

-based industry?

(E)  Question not attempted

ﬁnﬁiﬁaﬁﬁaﬁqmmﬁamﬁamm

(A) T SR S (B) aw I

©) e Fam Dy Wnfiraer 3eim
) ﬂﬂﬂﬂﬁ’.’l‘

3 :
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~ — S7)e
s

The average of 11 observations is 50, If the average of first six obscrvations is 40 and the average of last six

=
%
3

14
observations is 55, then the sixth observation is:

1 SraErRAT 1 3 50 Bl.af veet o sl w1 slaa 40 2, afye aiferm we stEEr=l 1 3haa 55 8, @ o2 s
&

(A) 35 @) 30

() 40 B 20

(E)  Question not attempted / i w4

e

%

®

15  The length, breadth and height of room are 12 m, 9 m and 8 m respectively. The length of the longest bamboo pole

{hat can be placed in it, is:

(A) 15m B) 19m
(© 18m (D) 17m

(E)  Question not attempted
\Fﬁm12‘*"?“3".9ﬁﬁamsﬁﬁrﬁlmﬁ@mwﬂmw¢3&#méﬂﬁmml
Ay 157 @) 19

© 18  ht=242

(B) ergafaya

16  The inner circumference of a circular path around a circular lawn is 660 m. What is the radius (in meter) of the outer

circumference of the path, if the path is 14 m wide?

(A) B84m (B) 110m
(€ 119m (D) 115m
(E)  Question not attempted

@ﬁmm%aﬁ,aﬁtaﬁmﬂﬁﬁraﬂiﬂﬂmqﬁﬁﬁmvﬂa%mﬁw 14 et <rer B At gEh s ol i B,

fex i) 7 anfi? |
(A) B4HIX (B) li0#=E \
e 119X (D) 115X
(B) oraiawd
17 A shopkeeper sold an article for T 400 at 2 loss of 20%. At what price he should sell the article to make a profit
of 10%?
T TR 3 frelt g A 20% H @R WL 400 7 311 10% =7 T ATy % forg, I 3w 7R H W F@ w
EEEIE 1Y)
(A) T530 ~B) 550
(C) T 500 (D) 520

(E)  Question not attempted / 3;33[’@[5[&[

ated with the abolition of Sati Pratha?
(B) Vivekanand
(D)  Raja Ram Mohan Roy

18  Who of the following social reformers was associ
(A) Govind Ranade
(C) Dayanand Saraswati
(E)  Question not attempted

S S b b A

Q) T ®) frari
© waic awd (D) TSR T
® ERawa

Alll ® ® [P.T.0.
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19 “The Indian War of Independence”, book was written by whom?

(A)  Veer Savarkar (B)  Mahatma Gandhi O
(©)  R.C.Majumdar (g (D) Baba Amte r'ig
(E)  Question not atteiifited <
2 ¥ AT 3t Efettda] e fs g ferat mée i~
(A) dwwEmm (B) T o
AC) ¥R, TwER fg (D) @ e &
® omgRawr i
v
20 AW A L \O
(A) e Y ot afat o ofe s R (B) sy At atar 2ot ar vk e A
Q) Waﬁtﬁaaf@}mmmﬁ%ﬁl (D) qumaiﬂamqhzf?fﬁfﬁ*ﬁl
(E) gaia wa [~ 0 -
0 'S
21 el e g e it v
w1 “'1 gt ol
a WEﬁ%ﬂT I. g aHT
b. @ammgym L EHTH SR FAT "EE:
c. SR YFHA) L. e foar =i
d.  weSTESE v, e -
13 fog e e & s e s co
A a:_IlLb-IV,c-[E-‘cl;l (B) a-NLb-ILc-IV,d-1_ '
(C) a-1V,b-IlLc-Ed-1I (D) a-ILb-IV,c-1II,d-1I H
’ () wEfawy
) Lo

22 At the time of India’s Ifidgpendence, how many Riyasat were there in present day Ra]asmg: (Rajputana Regi
(Choose the most appropriate option from below)
maﬁtmmﬁ#%a% ST 3 TSTET (Ui &)  feheredt frarmera off 2 (ﬁnﬁﬁaaﬂaagﬁﬁmgi)

(A) 29 =) B) 19 O
() 21 1 (D) 25 i
(E)  Question not attempted J’Mﬂﬂﬂﬁ g i
23 ‘Indian National Army’ Q.NA} was created by- (Choose the most appropriate option from bélGiv)
(A) Netaji Subhash ql?‘]“d"“ Bose (B)  Lala Lajpat Rai M
(C) Bhagat Singh < (D)  Bal Gangadhar Tilak =t

(E)  Question not attémpted EB
or? (e ¥ 9wy
eefirg e ST (A1), ) wh e o g feran S Ry )

) e S
) mwﬂzaﬁ ®
(©) wa fie - (D) ¢ ™

- pI
annl ® [
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Match List-I with List-II.

Listd List-11
a.  Chipko Movement L Afro Asian Conference
Bandung Conference 1. A proposal made by big industrialists in 1944
for setting up a planned economy
(A Dr. P.C. Mahalanobis [II. An environment movement to prevent cutting
down of trees
d. Bombay Plan IV. Economist under whose leadership the Second
Five Year Plan was drafted
-1 3 e -1 e iy
-1 -1
a  foueI 3riEeT L O ol wee
b WISTERHA I o i svdere s w0 ¥ e 1944
F w2 serataat g T T O W
c. @i wereEEw L st e A ¥ o o wate siiEen
d. S Iv. vt R ge o qEt T e
N TefteT G feRaT T °t
Choose the most appropriate answer from the options given below:
F fog g Rt 3 & warifares I9g ST Al
(A) a-Mb-ILc-IV,d-1 "~ ®) a-Lb-MLc-IV,d-TI
(€ a-I,b-Ic-IV,d-1II ®) a-ILb-Lc-1V,d-1I

(E) Question not attempted / STIARA &

In which of the following year United Nations adopted the UN guidelines for consumer protection?
ﬁgﬁwﬁﬁﬁﬁ%iﬁ;ﬁaﬁﬁmm%mdﬂmw%ﬁmﬁ&ﬁaﬁm

(A) 1985 B) 1979

(C) 1981 (D) 1983

(E)  Question not attempted / FFFARA FH

Which among the following organizations control the business of Insurance in India?
(A) SEBI (B) RBI
(D) IRDAI

(© LIC
(E)  Question not attempted

ﬁﬂﬁ!ﬁﬁﬁﬁaﬁuﬁﬁuﬂmﬁmmﬁﬁﬁﬁﬂmﬁ

(A) & (B) s, 37,
©) e k. & | (D) 3. 3w €. Q. 37,
(E) rqafawx e Vg

Who is the head of the Indian Audit and Accounts Department?
(A)  Attomey General of India ) (B)  Finance Minister

(C)  Comptroller and Auditor General of India (D) Prime Minister
(E)  Question not attempted |

Tt S e ik S fa 3 pE A &2

(A) YT & HEIaTd (R saten) i ﬁmmmﬂﬂ

(©) A & frae & nercramalias & i

(E) gaf@ax

Al e . ' ‘ [BTO.
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29

30

31

32

33

Which of the following is not a !C'rt;_i'lslilulinnul post? G
(A)  Speaker rf; (B)  Governor )
(©) TheChiefJustice (@) BBl Coyemor <
(E)  Question not attempted [? ™
Fraferftad ¥ & w0 ar v waf v 78 2 oo
(A) oo @iy (B)  TAIE <
(© W& =rmi "1 (D) s ot 3d Tt —
(B) g wy LR '

As per the Constitution of India

ﬁh}lc name of a state in the Union of India can be altered by -
(A)  Parliament "

o (B) Cabinet Committee \O

1 .

(©)  Govemor . _J (D)  President M
i

(E)  Question not attempted

T

GET IT ON
Google Play

T EFAT 27

i
m%ﬁﬁ%m%agm,ﬁtﬁamﬁa%@mwmﬁn%ﬁﬁﬁﬁﬁm%mmﬁaﬁm
(A) wduz o (B) whnize afufa @
©) TSI o (D) TEfa o
(B) Sgof@wy i v
Identify the most appropriate English translation of the given sentence: o
& IS A & @ 3 o ame &

(A)  Fresh air can be had only butside. ~B) Hecameouttoeata little‘l'[r"e’sh air.
(C)  He came outside for a breath of fresh air. (D)  He gulped some fresh air g:fside.
(E)  Question not attempted ™ ~
. @ b~
Choose the most appropriate Hindi word for - “Endorsement”, o0
(A) Sl i (B) I =)
(©) uBET =T (D) WaHHET ™~
(E)  Question not attempted e |
Which of the follow_ing best dc&‘?'bes the function of control unit? O
(A)  Perform the arithmetic oips_;'ratiuns. o
(B) Control the operations of emory, processor and input/output devices. \“v'-:
(C)  Perform the logical operations, [s:_
(D)  Convert the external dale‘o form understood by computer. o
(E)  Question not attempted \ o
ﬁnﬁmﬁam.m@z%mﬁmmmhm@ ot
(A)  Enfordt afteres @1 fomes S
(B)  Fol, ST S S/ SA1pg e SRt 35 farer o P '
(©) a%‘irgmqf‘camamﬁwm-l 0
(D) aTe (TFE) ST 1 Pt ahd U vy i wiafia we ™
() wgafaun r~ g
Khadi Kamgar Arthik ProlsahMojanﬂ has been implemented in the Rajasthan state fro B
(A) 16 July, 2024 & (B) 13 July, 2022 W
(C) 14 July, 2022 i (D) 15 July, 2023 =
(E) Question not attempted i i
TTEAT TS H @1 s snfdes siveemes s e @ it 61 ™~

(A) 169@r, 2024 1) 135, 2022
© %3::’ 2022 (D) 15 3, 2023
(E) ™ .

All] ® 8

[P.T.O0
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34  Match List-I with List-II :

List-I List-11
Scheme Launched
a. Shudh ke liye youdh 113 26 October, 2020
b. N:rd? Rajasthan Abhiyan IL. 18 December, 2019
c. Ind’ rrl Rasoi Yojana L. 20 August, 2020
d, Indlm Gandhi urban credit Iv. 24 February. 021
ojana ;“
a1 A - ‘lﬁaﬁrﬁaﬂaﬁﬁq P
-
-_._!
e
a. [EHUIZ I 263K, ;020
b, T v sfae IL 1sﬁ¥m 2019
c.  afexiTEd g L 20 3T, 2020
d. sﬁﬁﬂﬁﬁmﬂﬂﬁaﬁzaﬂﬁm V. 24%@EN, 2021 o
Choose the most appmprmte answer from the options given below: )
42 Ry Reredl # & waffaes ag o E“:
A a-1v,b-,c-I,d-1 @) a-Lb-ILgsULd-IV
© a-T,b-fic-1v,d-I (D) a-M0,b-TVye-Ld-II

(E)  Question fiot attempted / STTAIT T

1-4

GET IT ON
Google Play

Indira Gandhi Nahar Project (IGNP) is better known as the life line of - (Choose the most appropriate option from

35
below)
(A)  Southern Rijasthan (B) Western Rajasthan
(C) Eastern Rhjasthan : (D) Northern joasman
(E) Question 15? attempted H:
<P il T TSR (31T, S, T, ) FreAfeefa o @ et e, S v e Sar &7 (o & vl e
e =) ;Z:-:j
(A) aﬁwﬁuaﬁw (B)  fEr USEH,
©) {q”ftrawg__i (D) 3wl USTEATH
(E) HAgEf@wd -
36 Salt water crococus is main fauna of which of the following biosphere reserves?
(A) Panna ‘ ~ (B) Simlipal (&
(C) Great N:c%gr (D) Kutch ¥}
(E) Question not attempted S
fCiraecif: 0t frefafaa @ e fmiea fed Fg@Esiady o
(A) 9= (B) Rmferarer o)
© ﬁzﬁﬁ‘ﬁm . D) Fw O
(E) igaia P v
37  Which among théfollowing is the longest river of Rajasthan? ’
(A) Khari (7) (B)  Chambal ‘©
(© Luni <¢ (D)  Sabarmatj {7}
(E)  Question fot attempted ey
Rttt # & Taea i wad awlt 74 #2782 b
a) @it O ®) s D
© = D)  wEwdR ©
(B) rgafa 544 v~
=

All] ®
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. iate option from below)
38 The Thar desert comprises the desert triangle of three cities - (Choose the most appropriate op

. ® r :
(A)  Jaisalmer - Jodhpur - Bikaner (B) Jn.1salmer ) J.odrpur g:rr:::r .
(C) Bikaner - Jaisalmer - Pali W - 22;
uestion not attempted
gr:‘tﬁrgmﬁ et e ror e, ag & - (e i A el 3vges et ) (E)
(A) - S s () et g AR fost
(© T - Srerie - el (D) S - SereT - AT @A)
(E) rgaRa war (©)
(E)
39 Whatis the food pattern ratio of GOZ and GOR in National Food Security Mission (NFSM) on wheat and pulsy;
launched in Rajasthan in the year 2007-2008? . & : 44/ Dot
; nmmﬁa@200112003ﬁmﬁﬁqmﬁiaﬂtaﬁﬁ%neﬁuwwﬁ?ﬁGH-‘I‘F-‘W-‘I"-)mmGOZQHGOR (A)
HEH F ¥t 1 s 7 ©
(A) 80:20 . (B) 60:40 (E)
(©). 50:50 (D) 70:30 2rE
(E)  Question not attempted / ﬂﬂﬂﬂﬁ!’ﬂ (A)
(©)
40 Which of the following sector plays most important role in the economy of Rajasthan state? (E)
(A)  Education Sector (B) Industry Sector
(C)  Health Sector (D)  Agriculture Sector 45  Natl
(E)  Question not attempted . (A)
TS T 3 e & o e, s w & st wee s A s 27 (©)
A) fueras (B) SEmEm - (E)
(C) wr=aF (D) Ffudw T
(E) e v - (A)
(©)
41 Which of the following are cash crops of Rajasthan state? (Choose the most appropriate option from below) (E)
(A)  Soyabean and Cocoa (B)  Cotton and Tobacco
(C) Tea and Sugarcane (D) Coffee and Cereals 46 Col
(E)  Question not attempted (A)
Fretfrfiaa & = ot Trereerm Trea ot st (3wt (ﬁmftﬁmﬂmﬁmvﬁ)
(A) ErEER s (B) e 3R aramg " =
(C) =TT (D) I 3 3T f:%
(E) Sqafaus
¥ (A)
42 National Rural Livelihood Mission (NRLM) is implemented to eradicate pove for &
Rajasthan state during the financial year 202232023. " oo e ®
(A)  slum poor - (B) rural poor )
(C)  urban poor (D) tribal poor 47 Fu
(E)  Question not attempted -
ﬁﬁuaﬁzozz-zs%ﬁmﬂ@nwmﬁmmmﬁﬂmm. ST OST. W) it Py @ -
Tl 3 & fore frr w2 — (E
(A) it s fadg @)  wmfior fd »
© wwdfni (D) SHed fdy o
® vhays -
Al @ - 0

[PT.0- Al1]
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44

45

46

47

All]

Which one of the following is the oldest oil refinery in India?

(A) Haldia refinery (B) Mathura rcﬁncry{_. O
©) Koyali -';';.ﬁnery (D) Digboi refincry ")
(E) Quest{é’r? not attempted =t
PrfRrfiaer 3 & T S e et Rty e & 2 [
@) et @) wgofer O
() Feh et oy femad feed -
€ STREIH vl
Lot |
‘Doddabetta’ is the highest peak in Tamil Nadu. This is a part of which of the foll?{ving famous mountain range?
(A) Pir Panjal Mountains (B) Nilgiri Mﬂuntail:l?‘a
(C)  Aravali Mountains (D) Satpura Mountains,

(E) Questféﬂ not attempted

{'\-.
e “ﬁ%ﬁﬁmm%ﬁﬁ%aﬁﬁmﬁﬁaﬂuﬁmmmm@m@

(A) vﬁtﬁaﬂ e m Fafded O
© WA (D) wAgST AT ﬁ
(B) aRgys -
Nathu La Pass is situated in which State / UT of India? ﬂ;ﬁ
(A)  Arunachal Pradesh (B) Meghalaya £
©) Jannni‘hand Kashmir (D) Sikkim ;:i‘»
(E) Questilou not attempted . a
ch@jw%&qm!mmﬁﬁw%? i
(A) STRUTEIET SR (B) WU ;_-{
(€ T ST Ap) Tt o
(E) srERayd : .
Colour blind person is unable to discriminate between : Pt
(A) Blue and green colour (B) Red and yellow colour
(C) Blue and red colour (D) Redand green cuﬁur
(E)  Question not attempted o8
aﬁmﬁﬁﬁﬁwtﬁ%mﬂamﬁﬁmﬁm%; Pt
(a) rem e ®) W shedener
(C) d%arafft}mam (D) AT oy
E LI
(E) a‘iﬂﬁﬁ "
First Indian sp;,:ccraﬂ which will carry 3 members and will orbit for 3 days in sp% is:
(A) Bhaskar3 (B) NISAR
(C) Gagariyaan (D)  Spadex o
E Qucstm not attempted .
;u)wqmﬁuaﬁﬁwmﬁﬁs wawit F o o 3 ae ke ¥ 3 i F R @m 3
@A) wredd B) WA YAR
© : (D) g
(E) uiawd

® u [ P.T.O.
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48

49

50

51

All] ®

GET IT ON

Google Play

Which of the following is not the allotropes of carbon?
(A) Diamond (B)  Fullerene
(C) Ethanol (D)  Graphite
(E)  Question not attempted
forrfefaa 3 & =-ar e o swwsy Q@) 6 2
(A) SEHS (B) eIl
L) T (D) T
(E) FgafEws
Which Indian Constitutional amendment raised the age of retirement of a High Court Judge from 60 to 62 years ?
(A) 18" Constitutional Amendment (B) 15" Constitutional Amendment
(C) 16" Constitutional Amendment (D) 17" Constitutional Amendment
(E)  Question not attempted
Foer viTeeer sy sreivert 3 v =marera 3 =wniiedt 6 danfraf € g 60 a0 & =g 62 7 FA?
(A) 1847 e deies (B) 15af dftrar duma
(C) 1681 Hium gy (D)  17af wferam gemas
(B) Squiawsy
Match List-I with List-II.
List-I List-TI
a. Goods and Service Tax I Article 82
b. Delimitation Commission it Prime Minister
€ Survey of India - II.  Dept. of Science and Technology
d. Dept. of Atomic Energy IV. Article 246 A
HEI-1 % |y -1 it firerm il
-1 -1
a. S UEHATE L IR 82
b.  uftEEa S IO S
c. T WA (WS 3T 3fEm) . o i SR fpamr
d. S e IV. 31J=9%246 A
Choose the most appropriate answer from the options given below:
=fra fag e et # & waifies 3ugw o |
(A) a-ILb-1V,c-1,d-III ®) a-Lb-l,c-lLd-1v
(C) a-IV,b-lec-1Id-II (D) a-1V,b-Ill,c-1I,d-]
(E)  Question not attempted / TR 9%
The concept of ‘equality before law’ is an element of the conc‘cp! of “Rule of Law* which was Propounded by -
(A) Ivor Jennings (B)  Paul Janet
(C) A.V.Dicey (D) Lord Acton
(E)  Question not attempted
T 35 T T < ST T 2 e o ST 7 O R R g seffe vy o
(A) TSt (B) WS
4C) . e (D) wiwERA
® e "
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Seanmed with CamScannes


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda47]

52

53

54

55

57

All)

The actual growth rate achieved in the 11 Five Year Plan was: (Choose the most appropriate option from below)
1 10 ererffer aiver 3 Rt AT gfg a0y o o (e @ w3 fewed )

(A) 10% B) 9%

c) 8% D) 1%

(E) Question not attempted / 3T fer war

GST Council is a Constitutional body established under the following article:
aqqﬁmmmwﬁmﬁmﬁm%ﬁmﬁwﬁqﬁfmﬁﬁ%ﬂmﬁﬁsw&ﬁﬁﬁ?
(A) 122 _B) 2719A

(©) 184(1) (D) 247

(E)  Question not attempted / aﬂﬁf{ﬁ e

Which of the following tax generates maximum amount of revenue for the Government of India?
(A) Corporate Tax (B) Income Tax

(C) Sales Tax (D) Custom Duties

(E)  Question not attempted

fAefafar i A PR ATER, T T 3 FRTe T TR T SUTe T 87

y i (Fidie) # (B) I
© fhrs @) HALF
(E)  3rgaia e
Which of the following is outside the ambit of GST?
(A) Motor Spirit (B) Natural Gas
(C) Tobacco (D)  Alcoholic Liquor

(E)  Question not attempted

Pt & & 7 g O S e T & e E?

(A) @ fafe (B) THf T
“C) dEE AD) HEH
() gafasd

Overwhelmed by the beauty of which of the following forts did British Historian James Tod say that - if he was
offered a jagir in Rajasthan, he would choose that fort ?

(A) Nahargarh Fort (B) Chittorgarh Fort

(C) Taragarh Fort (D) Bhainsogarh Fort

(E)  Question not attempted

ﬁmﬁiﬁaﬁﬁﬁﬁmﬁﬂﬁwﬁaﬁn@éﬁﬁﬁﬂmﬁmﬁsﬁmﬁa eqfer 3= Trerear A et St R
trarar & SO, 7 e 3@ fRe T g ?

(A) AATECTE faer (B) fusitemg e

(c) amg fEe D) e frer

(E) @qai@a4

Which language is spoken in the areas of Banswara, Dungarpur and the nearby hilly areas?
(A) Shekhawati (B) Hadoti

(C) Mewati (D) Vagri

(E) Question not attempted

aﬁm,maﬂrsﬁm%m gyt 3f vt sivedy sl &2

(A) TramEet B) ey
(© HaTdr (D) anrdy
(B) rqaf@sd ’

® i [ P.T.O.
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58  In which year was Kalbelia dance form included in UNESCO’s intangible heritage list?
T T P gt <t o et el o o e e e ey
(A) 2011 (B) 2008 (¥
(€©) 2009 ey (D) 2010 =ft
(E)  Question not attempted / SR vy Jion
59 Fill in the blani-:}:?;vith the most appropriate option ; ?-3
b T x IEETe q ! e
r2‘-9, 28, 65, 1%6, ; r—i
Zuf Yyt (B) 204 ik
(©) 194 - (D) 206 o
(E) Questio{i};t}iot attempted / aﬂﬂﬁ?mﬂ t';‘]
60 In the given question, choose the number letter group which is different from the others.
7T ST ¥ o T 78 W i < o v [~
(A) OE3 () -B) PH3 (8 0]
©) X2 (D) IBS o
(E)  Questioniot attempted / ST oy i
61  When was Rajasthan Information Commission constituted ? L
(A)  April 28, 2006 (B)  April 18, 2005
(©  April 185006 (D) April28,2005 ‘&
(E) Questioﬁut attempted ™M
ST ST SN 57 7 ot g <
(A) 28 310, 2006 ®) 183w, 2005 L
(© 18 312006 (D) 283w, 2005 )
®) st 2
- | -
62  Which of the following position is rot mentioned in the Constitution of India? —1
(A) . Loksabha Speaker (B)  Prime Minister
(C) Chief iilister i (D)  Deputy Chief Minister
(E)  Question not attempted W
e &8 -8 v e e i o s v R ™
A) ﬁmﬁwm (B)  yumm h |
(©) gerHh: (D) 39 e g
@ sy o
63  Who among the-following commonly serves as the Chancellor of State Universities 2
(A) Govemngry (B)  Prime Minister v={
(C) Minister of Education (D)  Chief Minister
(E)  Question{tiot attempted O
Pt 5 A5T: 7 o frafrerdt S gy pevd e, o
A) TegaE sl (B) S <
©) e (D) e [
(B) aﬂgﬂﬁfr?* Vo)
64  Geostationary é?ezllites are positionedat ____ km upward distance from ennl}c‘gvrface_
qfRere g o T g v @ Tereft oo o gt e fovar e &4 ol
(A) 45990 (B) 26000
(C) 36000 (D) 55690
(E)  Question not attempted / 37t war
All]l X : 14
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65 Concentrated nitric acid (aq) reacts with copper to give
(A) Copper oxide and dinitrogen oxide (B)
(C)  Copper nitrate, nitrogen monoxide and water (D)
(E)  Question not attempted
A A TS (aq) T (i) @ axfirfire a2
(A) I HTHTEE T AT aifawes (B)
(C) I ATEE, ATFZISH WaTES Ue urt (D)
(E) SFaiawsy

66  Son river is a tributary of which of the following?
(A) Narmada (B)
(C) Yamuna (D)
(E)  Question not attempted
Rl i e gems w2y
(A) e (B)
© Fgm D)
(E) ¥gaiays

67 The Southern most Himalayas are known as -
(A) Aravali ®)
(C) Himadri D)
(E)  Question not attempted
T (werd) <for femera it e A & ST ST E 2
(A) IwEE — A8
© ok (D)
(E) Igaf@ws

68  “<ITer, YIes 3R W SaTe €7
(A) HEEEF (B)
() wfwars D)
(B)  STguf s

69 T3 d i amre: R e € &
() dH 8)
© @ (D)
(E) 313?1‘&?[ uq

70 form aa i @it ag Su e 82

o -

(©) aFH
(E) 313?{?(?[ oa

7 %mmmﬁﬁmﬁmmﬁwmmﬁg-
(A TEESERIA P
(c #iyad
(B) oERasH 15

All] ®

GET IT ON
Google Play

Copper nitrate and hydrogen gas
Copper nitrate, nitrogen dioxide and water

T AR U EEHIeA -
FIUT 322, AFEIA SEATFaTEE ve O

Ganga
Mahanadi

Shiwalik
Him: —

afdm yey
En ot

[P.T.O,
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. vl but not by 3?
72 How many numbers from 11 to 70 are there which are exactly d"f'“lblc by 7y
() Six (B)  Nine
(© v (D)  Seven
(B) lﬁh stion not attempred
11 R 703 bt Pl it @< 7 9 qofera s @ e lﬂann'u?h]
(A) ‘EE @) AN e
© YK (D) W e
(¥) T e aw 48]
n .‘\rmugqﬂ‘e tollowing words ae cording to dictionary arrangement;
WY Y S (R st arqar st #fin)
a‘ Exeept b. -I_E”xpect':
Excess d, Exit
Choose the mosr appropriate answer from the options given lu.low" D
M Ry ﬁaﬁﬂﬁ@%mmiﬁl "
9 c.d b (B) b,dmc
© N d.e (D) ¢ dfayb
(E) Question not attempted / ERELGRE 04]
)
74 Choosc'ilic venn diagram which best illustrates the three given chssev.:
azré-rekﬂtaﬁ?: R ot ait ot st w0 & 2wt 2 ‘,_1
Flowers, Red. Fruits. .
T ‘ “
N
= GOD
28]
75
o @D
[ L —
r _ -
(E)  Question not attempted / 3w 95
75 Which tl)ghe following two states have a joint plan under Mahi Pm'ec}? ,
(A) Rijsthan- - Haryana (B) Rﬂju!han Madhya Pradesh
© asthan - Punjab (D) Rajasthan Gujarat
(E) uestion not attempted p..
ﬂﬁﬂanﬁﬂmmww’ﬁw?\? . 00
A) (B) TSRUW - M yyy
(C] (D) TSR - T
™
76  The ch&&tmsucs of computer in which, computer can pcrfonn&i)ﬁcmﬂl types of tasks with the same case is
known £53)
(C©)  Versatility (D)  Relighility
(E)  QuUestion not attempted
T R T w1 fAftwa m&wﬁﬁ:m*“‘ﬁ“@ﬁ e e
() Wl (g)) 5
© el £ v
(B) afwwx
16
Alll ®

[PTO.

Seanmed with CamScannes


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

77 Select the related word from the given options :

Animals : Zoology :: Blood : ?

(A)  Entomology

© Pnthology{f]

(E)  Questionmot attempted

fow o forapet # @ weifira vre3 =61 = i
ST qgﬁﬁﬂq’::ﬁﬁ ?

(A) IR

(C) YTt v

(E)  3rguiea war

78 628,429, 183,249, 416

(B)
(D)

(B)
(D)

GET IT ON
Google Play

Hematology
Anatofny

From the above géﬁuence of given numbers, what is the sum of the unit dlglt of third number from left and tens digit

of the fourth number from the right?

mﬁﬂﬁq@mﬁ%mﬁ T2 & e T ) e ¥ g waaﬁtﬂa‘ﬁ:wﬁm%mﬁ 3feh T AT &2

(E) Questionrﬁ:%t attempted / STARE %0

B)

(D)

3 P,
1

? gl& '3
L2
1"&-i

79 Sushil is the son-in-law of Bhumi’s maternal grandmother Sangita. Ravi is.the only son-in- -law of Bhumi’s mother.

How Ravi is related to Sangita?
(A) Brother-iftlaw

(C) Uncle

(E) Questlon%t attempted
geiter it q@*ﬂm
(A) WS:I’ET v

(C) Ao

|
(E) Irguia

+

T 2 tﬁqﬁraﬁwm@mwﬁrtﬁmym&wmﬁ

(B) Grandson | “

* (D) Husband ofg?anddaughter
(B) W 20
Dy At

e g
ol

80  Who among the \qlowmg established mobile reading rooms and libraries at various places in Rajasthan?

(A) Komal Kothari (B) Pt Jhabar Mal Sharma
(C) Acharya ‘“151 (D) Swami Kes!'m;anand
(E) Question not attempted g
frafafaa da i W%ﬁﬁqwﬁmmﬁaﬂﬁww@mﬁmaﬁ?
(A) FEAFE (B) wfved s wer ot
(€) mar geEl (D) @ IEET
(E) rgafa s pd
te HE-

81  Which of the following leaders led the Bijolia movement?

(A) SurendraSingh
(C) Chuna RAni Punia
(E) Qucsﬁonqgt attempted

i & fret e atidier @1 qe fmm
&) Tk
© STy
(E) azg@ﬂasrer

Aul ®

(B)
(D)

(B)
(D)

Vijay Smgh Pathlk
Kanwar Vl ]uy Pal

"\

ﬁmﬁtw&m
EEISEED TS
yaed
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82  Barkana water falls is situated in which of the following state of India?
(A)  Odisha (B) Karnataka

(©) Goa (D)  Tamil Nadu
(E)  Question not attempted

mwﬁﬁw%%ﬂmﬁmmﬁwé?
(A)  sife (B) wAleH

(© i (D) afirerrg
(B) e war

Which of the following mineral is non-metallic and inorganic?
(A)  Graphite (B) Natural Gas

(©) Coal (D)" Petroleum

(E)  Question not attempted i
Pttt & & i ar afr s ST 87

(&) Iwrge

(B)  yrFieE g
(© Fg=w (D) e
(E) rufaws

8
Read the passage and answer the questions that follow:
Show

» ew research and new health warnin
contradictory and further confuse lay people.
Part of the problem is that many studies are fi

nanced by the food industry,
much of the so-called nutritional wisdom that

has been
out of the commercial interests of those passing on the
The most famous example of this sort of thing may be the rule - rigidly advocated by some doctors over the Years - thz
breakfast is the most important meal of the day. Skip breakfast, you will be told, and there will be damaging consequence:
for your health.

You can trace the roots of the advice to (surprise, surprise!
Kellogg family (owners of the eponymous cereal company)
It has always been a peculiarly Anglo-Saxon idea. Pe
attach such great importance to it, Nor do countries
instance, in France, breakfast may well consist of
absence of solid food in the moming doesn’t really
France in the last decade or so, the French had mugc|
In the US, the bogus breakfast orthodoxy has led p
syrup (often misleadingly packaged as maple syru

which'has a vested interest in the outcomes. An¢ 89
propounded over the decades does not emerge out of pure scienc

e bu
advice,

) the American cereal industry and to such food faddists as the

p). There is finally a recognition that the breakfast-is-esse
actually contributed to a decline in American public health, the obesity epidemic and to tooth decay. Ma
sugary cereals are quickly putting out new *low-sugar’ variations,

Some doctors still insist that the first meal of the day may be the most important. But the scientific o
view that if you avoid breakfast nothing terrible will happen to you,

ntial myth ha
nufacturers o

vidence supports the

84  Complete the sentence by choosing the correct option:

91
In reality the benefits from advocating the need for taking breakfast, p
&%) food Industry (B)  general public (
(C)  French people (D)  children ¢
(E)  Question not attempted a
All] &® 18
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85  According to the conclusion of the passage, breakfast -
(A) Contributes to an individual’s health, (B)  Is essential and not to be skipped.
~«C) Skipping Ca““&[\h“m you. (D) Is the most significant meal of the day.
(E)  Question not attempted o
ey i
86  In America, obesity :l;;:l tooth decay have assumed the proportion of an epidemig because of the -
(A)  Consumption of savoury food (B)  Vested intcrest of the general public
L) Consumption of sugary cereals. (D)  Greek idea of bréakfast.
(E)  Question not attémpted i
- .
87  Bogus means ; '
(A) Confident o A(B) False Vo)
(C) Big s (D) True _ v}
(E)  Question not attempted <f
f~ i
88  Identify the most appropriate idiom which can replace the underlined words: o
Rohit has the reputation of complicating and confusing things when any issue is‘raised in the meeting.
(A)  got our wires trossed (B) asclear as mud
<€) muddying the'Waters (D) in complete sharibles
(E) Question not attempted
W )
89  Which of the followifigifacility is mainly provided by E-mitraplus initiative of K’Qﬂsthan?
(A) Video confereniéing <
(B) To apply for birth certificate, domicile etc. [‘“
(C)  Payment facilityfor individual firms _ ey
(D) GIS based Debision Support System =
(E)  Question not a'ﬁézmpted L
P & & 7 i . e 4R et R S A 87
(A) difedr FRET (B) = WA 9, STt & o smaer o=
() fafire sfrgri @typrar i gl 3T (D) ﬂ@mmmﬁ%ﬁvhmm
€ @y M,
o «f
90 Which of the followinginput device is used to input temperatures and moistare etc.?
(A) Sensors 0 (B) Webcam o
(C) Scanmers & (D) Joystics 3 )
uestion not dtfempted
gﬁ%ﬁﬁ%mﬁgmmmmmmﬁmmﬁwmmh
(A) & (B) Fwawm W0
©) G on (D) Siafiwy o
(E) IARATT oy :{‘
91  Identify the word lhaa}n best substitute the given expression: 0
One who is too strong 19 be defeated. &
(A) Invincible (B) Invulnerable o
(C) Indefatigable ,| (B) Insolvent i
(E)  Question not attempted
Al ® 19 [ P.T.O.
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92

93

94

N

96

97

98

All]

7

Identify the most appropriate antonym of the given word from below:

APATHY -

(A) Fervor (B)  Stoicism
(C)  Stupor (D)  Aloofness
(E)  Question not attempted ’

Choose the most appropriate option from below to complete the sentence:
A formal letter concludes with a -

(A)  Heading
(C)  Salutation
(E)  Question not attempted

(B)  Subject
(D)  Signature

ﬁwﬁﬁﬁuﬁm%&ﬁﬂ%ﬁ%mmﬁmwﬁmﬁ%mﬁ{tmaﬁﬂhd‘ﬁfiﬁa’fzmmﬁ?

(A) T fam, 1976 (B) T aafufam, 1963
(©) vt sfufam, 1967 (D) s e, 1973

(E)  3gafa wer

e o, P 3 & fam el & forar sar 22

(A) SRy (B) Iwq ey
€ mEps (D) e
(E)  ygafa war

Which of the following language is not included in the Eighth Schedule of the Constitution?
(A) Santhali [ (B)  Nepali

(C) Sindhi (D)  English
(E)  Question not attempted

P & ot sy SR o ot e S v vt 2

(A) Hurel (B) Surelt

(C) fasft . (D) sl

(E) Smiauy

Who was awarded Major Dhyan Chand Khel Ratna Award 2022 for Table Tennis?
(A) Soumyajit Ghosh (B) Kamlesh Mehta

(C) Manika Batra (D)  Sharath Kamal Achanta

(E)  Question not attempted

e feareirst ot 2erer v ¥ Ao warm < W Tt e 2022 waH R
(A) ety (B) oI e

(C) wfEra (D) I FH Hdar

(B) erafaug

Which one of the following is not a Fundamental Right under the Constitution of Indjy?
(A)  Rightof Freedom (B)  Rightto Education

(C)  Right to Property (D) Rightof" Equality

(E)  Question not attempted

Fretferfad & & = ar v s 3 o Mo st Tt

(A)  EdEEn s (3) R iR
(C) Hufe = st (D) WWTAT T Aftay
(B) i@

® ” 20

[PT.
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99  Choose the most appropriate option to complete the given sentence.

They withheld his results, He the proof of his age.
(A  doesn’t furnish (B)  has not furnished
(C) had not furnished (D)  didn't furnish

(E)  Question not attempted

100 Choose the most appropriate option to complete the given sentence:

There was knock on door. I opened it and found small dark man in blue overcoat and
woollen cap.

(A) a,a,the, the (B) a,the,a,a

(C) the,a, , the (D) an,the, an, a

(E)  Question not attempted

101  Which of the following three years were declared as Plan Holidays from five year plans in India?
(A) 1969 to 1972 (B) 1957 to 1960
(C) 1961 to 1964 (D) 1966 to 1969
(E)  Question not attempted

R daadia e & & Frer § O w5 S i 3ot st e sraer et R o

(A) 196991972 (B) 195791960
(C) 1961 & 1964 (D) 1966 F 1969
(E) Irui@wd

102 Dr. Savita Ben Ambedkar inter-caste marriage help scheme was launched in the year-
<7, wfraT 3 srree ST RraTe wera A freaa i @ fore o & sy Y T of?
(A) 2012 (B) 2006
(C) 2007 (D) 2010
(E)  Question not attempted / 3G 54

103  Rajasthan handicraft policy has come into force on
(A) 23 November, 2023
(C) 18 September, 2022 (D)
(E)  Question not attempted
TEdT gy A ey g ol
(A) 23+de, 2023
(©) 18 fadsw, 2022
(E) gl ua

104 NITI AAYOG was established on: (Choose the most appropriate option from below)
(B)  1*January, 2014

(D) 15" August, 2015

(B) 17 September, 2022
20 December, 2023

(B) 17 fagsw, 2022
(D) . 20 &g, 2023

(A) 1% January, 2015

(C) 15" August, 2014
(E)  Question not attempted

<N AT By e o 7 o, (e -y 3 R

(A) 1sFE, 2015 (B) 1 sFad, 2014
(C) 1537, 2014 (D) 15 37T, 2015
(E) e wa

Ay ® 21 [ P.T.O.
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105

106

107

108

109

110

All

Choose the correct combination from below:

(A)  RRB - Agricultural Finance ()
(C) RBI- Lm';g'q‘cnn Loans (M
(E)  Question not attempted

Freaferfaa 3 & s wiaivom ) g

(A) I A0 s (B)
(©) e s, avig)- Defamiferas smor (D)
(E) azﬂaﬂm:i“'

GET IT ON
Google Play

IDBI - Shaf/Term Loans
SBI - Morfctary Policy

=3
i‘-‘.
(4]
ard, &, aficoyrd. - arermIfer® H

g, aft, sird e fifr
1

Qg1
How many mduqlnc% were reserved only for public sector before the dcrggulmum of the Industrial Sector in 19917

(Choose the most&ppropriate option from below)

1991 #, Sﬁa‘rﬁm@%&aﬁrﬁamﬁﬁ mmﬁmm#mm&mmﬁm (P 8 41 it 3 Fare o)

@A) 17 b (B) 20 il
© ¥ o ® 24 9D
(E) Question not attempted / SR 21 a
r{ "
i & 2 e Al & 5
(A) s (B) W 0
© oo ) FE
(E) iuie@wgf) e
< {\.
S fen _ v e
o - 1« foew ) = i oy o vt 3 e Rrar s 21 =
e - 11 : P Y e i & ok e o) @ s a
T o 3 o i PR et & s suge st
(A) A 17w 8, g w2 (B) =y I3 11 2Rt wet &
(©) a;mlaﬁvgmzﬁrﬁmﬁ (D) FuTIEE FUF TR |
(E)  sigefa war) =
b I~
frefafiaa § & Ftrd afat s & {20
a, @m b. St o
HS{ d. 7 ““_1
&, QH
1 fav mu forret § & wrarffirs sgw s s AR W
(A) @b, d¥ite B) Fasb, o H{yd
(©) %ﬁm.c%ﬂe (D) Wﬂ-d’rﬁfe
(E) Qﬂﬂfmﬂf‘“ o
.0 @)
‘Deputatiun"ﬁ%%ﬁﬁﬁmr&q;mﬁ. v
@A) Faft e ) shfgE
© fafs ) wfngfa
(E) rquf@wy
1 ® 22
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111

112

113

114

Ffefes # & sanfsefer FTg@saR-

(A)  sufsfas (B) ol

© sl (D) Smfa

(E) TguR@us

Cooperative movement in Rajasthan region was started in the year ______. (Choose the most appropriate option
from below)

T A 3 TR e Yy it gd 1 (Frer i & et e e 7)

(A) 1914 (B) 1904

(© 1910 (D) 1912

(E)  Question not attempted

Given below are two statements:

Statement (I): Sodium metal is stored in kerosene oil because it is highly reactive.

Statement (IT): Sodium metal reacts vigorously with nitrogen.

In light of the above statements, choose the most appropriate answer from the options given below.
(A) Statement (I) is incorrect but Statement (II) is correct.

(B) Both Statement (I) and Statement (II) are correct.

(C) Both Statement (I) and Statement (IT) are incorrect.

(D) Statement (I) is correct but Statement (II) is incorrect.

(E) Question not attempted

- ﬂ%ﬁmﬁ‘{ﬂl{%

T (I): Gifeay urg =1 g 3 e i winfa frar smar @ w=if g st sfafeares gar gl
U (I1): VIFETH HTg TS & Yererar & Sratnar i 8l _
IR T 6 ST 1, A9 i e et § & Fa 3G Il

(C) oA (1) 3T (I1) ST € e &) (D) v (1) 9& & Sfd wu= (1) Tera 21
(E) HAgui@wd

Cyber security is also called, “Security of Information Technology™, It is used mainly_to:
(A) Used to send letters by post

(B) Connect different computers together

(C) Used to share the resources on internet

(D)  Stop unauthorized access into various compulers

(E)  Question not attempted

aE g @, cqen e foger, o wE s b owa s il st & R fe
EIGI %:

(A) T =1 BT 5T S & fag

(B) fafr=rdmegedian UF-ZH G ST

(C) $eCiz T waTA F1 3w i iz #f wam & for

)  fafir dedl ¥ srfirg g @1 da 3 f

(E) FERaug
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115  In which Year the Indian Space Research Organisation (ISRO) was set up?

ﬂuﬁmﬁamwmmmmusmwﬁwﬁ"ﬂfq
(A) 1952 0 (B) 1962 (-'_'l
A2 1969 ™ (D) 1972

o
; bt 3 3
(E)  Question :1()il:'111cn111tc‘l!311irﬂ'auﬂ fw

"
116  Which of the i‘nllu\ﬂ:ﬁ'ﬁg facility is mot provided by the Rajasthan Sampark Pona!_'_?;_'_

(A)  Automatic émcch Recognition (ASR) (B) * Grievance I{cdrc,;'f;:ﬁ'::ll
© aGis illlcgmﬁ; and data analytics (D) Vidco-confcrcmii_ljg.
(E)  Question noYallcmplcd
ﬂn%ﬁqaﬁﬁaﬂqiﬂghmmﬁﬁﬁammm%ﬁrw%? e
AX) ST i e (Ask) (B) R o1 e
(©) it oy, T TEhIRRoT 39K 377t &t Ry (D)  =fifEr =k
() rgafe wa p. ™
s &
117 Fillin the blank b)@mosing the most appropriate option: =
He was indignant v being cheated by the smooth talk of the salesman. j
(A) at - (B)  with o
(C) in ‘h D) of v
(E)  Question nor:_;ttempted £
e S : i
118  Change the direct sg;gech Info indirect speech by selecting the nost appropriate.option from below:

He said, “I do not wish to see any of you,

go away.”
(A)

He told that¢hie did not wish to see us and ordered us to 20 away.

~B)  He said thatthe had not wished to see any of them and ordered them to gdatvay.
(C)  He told that® did not wish to see any of tﬁe;n and ordered them to go

(D)  He said that he does not wish to see any of us an

(E)  Question notfttempted '

g

L

0

aivay
d ordered us to £0 away,

0

™) ™M

119 Change the sentence into passive voice by choosing the most appropriate nptioﬁ
They feed the scnls[?t the zoo twice a day, -

AK)  Twice a day,the seals are being fed at the zoo, (B)
(C) They feed Illgfea]s twice a day at the zoo,
(E)  Question notaptémpted ’

)
The zoo feeds ﬂtﬁeals twice a day.
(D)  The seals are fed twice a day at the zoo.

|
120 In Rajasthan putlin};g gold nail between the teeth is known as:- :‘?]
(A)  Borla (B)  Daamna o
(C) Baari 2 (D)  Choonp N
(E)  Question no tempted ©
TSI ¥ 37t o o, 13 o e et ) e a e s & )
() @ (B) & -
(©) =t = (D) =¥ |
(B)  rqufia w :
Alll ® - 24 (p10
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121  In which Rajasthani folk dance, dhol, bankiya and thali are used as the main instruments?
(A) Gair (B)  Ghudla
(C) Chang 0 (D)  Dandiya
(E)  Question not attempicd

o % %«miﬁ:ﬁ*aﬁ,aﬁmaﬁtmmm}ng@xmm%mﬁﬁmwm}rﬁ

O
M

@A P> B) HEer e
() = m 0 (D) zifgan A
() oraiE us o o
™ =i
]
122  Where is Nataniyon Ki Hnivc i situated? I
(A)  Lakshmangarh 0 (B)  Jhunjhunu o
(C) Churu v (D)  Jaipur M
(E)  Question not attcmg:e!d =
et 1 et e o fe &2 ~
(A) TETTE o (B) #FL a0
© T o (D) ¥IE o
(E) igui@yd i =i
™
123 Name the person who went on a fast in 1952 demanding a separate State of Andhra and died during the fast.
(A) B.P.Sarabhai () (B) Potti Sriramulu O
(C) Sriram Gandhi (V) : (D) Ramlal Gaya (¥ )

(E)  Question not attempted <
q =afts F1 9 Fare st 1952 3 gueh o7y U9 ot ST % f ST wads 7 4, aﬁr%m&:a’:tmﬁmﬁﬂér
(68]

Tt <t
(A) 1. o, amoard & (B) gt sfgey 3
(C) et i (D) UHST T i
(E) &gaia9d i
. D 0
124 Given below are two stalemms: ™M

Statement (I): In the context of the revolt of 1857, the term revolt refers primarily 46'the uprising of the civilian
population. ™~
Statement (II):  Mutiny Was a collective disobedience of rules and regulations withirf file armed forces.
In light of the above staterficnts, choose the most appropriate answer from the optiuns@'en below.

(A) Statement (1) is incorrect but Statement (I1) is correct. i

7

(B)  Both Statement (1) Eill Statement (I1) are correct. &
(C)  Both Statement (I) and Statement (11) are incorrect. '
(D)  Statement (1) is co, " t but Statement (11) is incorrect, b
(E)  Question not altem, _11 2?1

faTmfomt >
we (I): 1857 % M(W;%ﬁmfﬁﬁﬁsmﬂﬂﬁwfﬁm= i smard ) a4y
e (11): e (et wamgy areit 3 sftere Fnst s fafenil o0 wfes sri sty

I et & et i, A fog o e 1 @ R I9GH IO i
(A) T (1) T & A 11) e B (D) e (h st 1) it
(€) A (1) SR FUT (11) Sf oy wreral B (D) %61 (1) Wt & bt vy (1) ey 24
(E) .:ﬂﬂﬂfﬁ!’!m
Al ® o [PT.O
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i iven by henna?
125  Which of the following is responsible for the dark brown or reddish colour g1V
(A)  Hydroquinine ()  Luciferin
(€©)  Melanin (D) Lawsonc

(E)  Question not attempted

Mmmwmmmmamﬁn&mﬁﬁmmmﬁ?

(A)  wgifEaE B) et
© bR (D)
(B) Ngafwawn

126  Zinc reacts with dilute nitric acid (aq) to give
ﬁﬂ%ﬁ!ﬂﬁﬁ%*mmﬂﬁmm(amﬁmaﬁ%
(A)  Zn(NO,),+NO +H,0 (B)  Zn(NO), + Hy0 +N,O
(C) Zn(NO,),+H, (D) Zn(NOy), + H,0 +NO,
(E)  Question not attempted / 3FARA ¥4

127 Which of the following is not a part of chromosome?
(A) Chromatid (B) Satellite
(C) F, particle (D) Centromere
(E) Question not attempted

IR (T F1 et § & 9w o fer @) 72

(a) wmies (B) A=
©) T iwa (D) FEfET
(E) guRawd

128 Which of the following is not a Kharif crop? ‘
(A) Rice (B) Maize
(C) Pearl-Millet (D) Gram
(E)  Question not attempted
Frafafa & & 217 @ als woe 2
(A) umHA (B) WA
(C) =~ (D) A
(E) wrqafaus

129 If ‘threat’ is coded as 289512, then *BRIDGESTONE® will be coded as:

R ‘threat’ 1 %7€ # 289512 2wk fay sirenr &, A ‘BRIDGESTONE' %1 %18 €y,

~—tR) 29947512655 82 (B) 27947513855
(©) 29947612955 (D) 28947612855
(E)  Question not attempted 1 et wu
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| TR (e o s

130 Amarand Akbar start walking in opposite dircction. Amar walked 24 km and Akbar walked 7 km. Then Amar turned
left and walked 7 km and Akbar turned right and walked 24 km. How far is each of them from the starting point?

(A)  31km T (13) 27 km O
€ 25km o D) 26km ™
<P

(E)  Question not attempted

maﬂtmﬁﬁmﬂamifﬁnﬂzaﬁmwnm;ﬁ' oY, srerr afe srwat 7 Be. oft, <0t aeenma s At g

7 o, o, e 3 srre 2 e 24 o, .t | i o e g @ P gl 0
(A) 316 o @y 27 fa o, *J’
Jor  2sfeaf, ol (D) 26 .. :!
(E) Sigaf@wy v

" Lo s
131  A.B.C, D, Eand F are sitting in Srow facing north, E and F are in the center, and A and Ili,arc at the ends. C is sitting
on the immediate left of A. Wh@s sitting on the immediate right of B?

A BCD, Eaﬂrmmqﬁﬁﬁmﬁaﬁtgama%%maﬁw#ﬁ aﬂmaﬂmmw?lc A F e = o

wﬁa%m%aﬁaﬁmwﬁﬁa@ 0
A D (B) E o
) A O (D) F ™
(E)  Question not amempted)’_l e ™

132 Sclect the option that is related to the third letter cluster in the same way as the second ]ctler cluster is related to the

first letter cluster.

ﬁnﬁ%mﬁmwwﬁﬁwﬁqﬁamm@ﬁwmwﬁm%ﬁvm £t T WAH HA EHE
Y ) ™
‘g’,?UNDS DNOSUW : : ALMIGHTY : ? o
GILHMATY (58] (B) AIGHTYLM. o
() AIGHLMTY Q (D) AGHILMTY =
i

(E)  Question not attempted ARG T4
v

There is a definite relationship between figures (i) and (ii). Establish a similar relationship’between figures (ii1) and

133
(iv) by selecting a suitable ﬁgu'i'g‘!from the options. So select a figure from the options fid} would replace question
mark (?) <
S (i) aﬁ((u)a;a‘}aqa;ﬁﬁﬁ'wm ﬁmﬁﬂwmmwmmﬁﬁumm)mzﬁamm
w1 il m%qﬁwﬁﬁazfm@ﬁaﬂwvﬁﬁﬁ (?) wafere a1 s |
Problem Figure mwnmg;ﬁ b O
ki = ™
AN i P o
|\ !
0
(i) (ii) (i) O (iv) ™
" q <t
= n “% r~
w D F o QO] 5
o o
Q t—i
(©) @ v () vl
o
(E)  Question not attempted / 3yaftd 44
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i ; by 8%, the fraction becom, l§
134 On increasing the numerator of a fraction by 15% and decreasing its denominator by 5% B Tg ]
the original fraction is:

15
figsr = — BIFAM@TIR
afe wh v % sivrad 150, agr fan st st gk w0 A 8% w2 s A ekl q\aﬁp.ﬁ
Hifs

(A) % (B) %
“ Y ® %

(E)  Question not attempted / I ug

135 Amit, Sumit and Vinay divide an amount of 2 2800, amongst themselves in the ratio of 5: 6 : 3 respectively, Ifz
amount of X 200 is added to the share of each, what will be the new ratio of their shares {:f the ‘aTounl? )
i, v o R g 28006 wofra s -6 - 3 35 g & e 7 % 81 e v 6 et 8% 200 9 oy
arafn & 37 fewe o ST T B
(A) 4:5:2 (B) 6:9:4

A€T 6:7:4 (D) 7:8:5
(E)  Question not attempted / 31gafa wyr

136 Who was the Deputy Prime Minister and first Home Minister of Independent India?
(A)  Rafi Ahmad Kidwai (B)  Mahatma Gandhi
(C) C.Raj Gopalachari

(E)  Question not attempted
ﬁﬁxm%%@rmmﬂaﬁaﬁtqﬁsﬁﬁﬁ?
(A) Tt s1Enz Rread (B)  wWeren N+

(C) . U irarem=Td (D) FERTEnnTE v
(E) <igafawg

(D)  Sardar Vallabhbhai Patel

137 After the partition of India in 1947 ing archaeological sites remain
(A) Kalibangan

(C)  Mohenjodaro
(E)  Question not attempted
19471 m%ﬁw%mﬁnﬁaﬁmﬁﬁﬂwm

(D)  Gunveriewala

RUCHEEE RS VT o 0 3 8T H oy 9
(A) =refEm (B) wgwr
(C) wreasizsr . (D)  TilETEr
(E) wqafaug
138 Who is the family deity of Bikaner royal family?
(A)  AaiMata (B) Kami Mata
(C)  Jeen Mata (D)  Sakraya Mata
(E)  Question not altempted
F S AT A e
(A)  wéwmn (B) @l
(C) St v (D) W™ A
(B) wrquf@ug
All]l ® 28
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139

140

141

142

All] ®

Poona Pact 1932, was associated with which of the following Leaders?
(A)  Mahatma Gandhi and Dr, Bhim Rao Ambedkar |
(B) Mahatma Gandhi and Muhammad Ali Jinnah

(C)  Dr. Bhim Rao Ambedkar and Muhammad Ali Jinnah

(D) Mahatma Gandhi and Pt. Jawaharlal Nehru

(E)  Question not attempted

g g, 1932 Frfrfe § & R Yarod & daifta ar

(A)  wETeHT Tt uE 2, sfa avEaR

(B)  eTeHT it 3 qewrs areht Ry

(€) =t vihmrE et ud qem areh R

(D) WETET MYl UE 4feq s des

(E) Faf@wH

Who established Depressed Classes Association?

(A) Muhammad Ali Jinnah (B) Mahatma Gandhi
(C) Dr. Bhim Rao Ambedkar * (D) Jawaharlal Nehru

(E)  Question not attempted

zfera et wma, e wenfia R

(A) HE=R el R (B) WETeHT et
(€  Ehsfi e (D) STETEE 168
(E) igaiaws

SVAMITVA Scheme is associated with

(A) Soil conservation in rural areas.

(B) Water conservation in urban areas.

(C) Demarcation of inhabited land in rural areas.

(D) Property survey scheme in rural areas.
Question not attempted

mﬁrazﬂw e weiftra @7

(A)  retor TRl # P 6

(B) e SeRI A S HeaT

(C)  msioT SRt i STreE vifer TR

(D)  mioT geTRt § wRaf w7 AT

(E) Fafa "
National Panchayati Raj Day is celebrated on
(A) 26 April (B) 20 April
(C) 22 April (D) 24 April
(E)  Question not attempted
T et U feaw ) AT ST 2l
(A) 263 (B) 2031
() 2230« (D) 24 3%
(E) Sruia w

' 29

GET IT ON
Google Play

[ P.T.O.

Seanmed with CamScannes


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal24

7)

GET IT ON
Google Play

143 Which of the following is not a Constitutional Body?
(A)  National Human Rights Commission O
(B)  Union Public Scrvllcg(‘onmiissinn (?
(©)  Finance Cnmmissi&i’_ -
(D)  Election Commissi‘gj{ ™
(E)  Question not attempted 0
& s v e e Q
(A T wraE aﬁn ,:2
(B)  ® S dar g ;
(©) e amim O
@) a3 g o
(E) rgafeawe ™ L,
< g
144 The simple interest of a certain sum of rupees for 8 years at 7.5% annual rate is ¥ ?so@hm is the simple inter,
same sum for 8 years, if the rate of interest is increased by 2.5%? Q
TR 7.5% Aies sarer TR 8 it i gm aRITZ 7,500 IR ST ST &1 T THT ST T AT 2.5% T
T 8 T o FraTr WW;F‘:'%FTI'? i
(A) T 12,000
©) R 12,500 0 AB) ¥ 10,000 Lo
(E)  Question not attempted / SFaa vy (L)}
= =
145 aaqa:z’rlat%:mmaﬁtt‘mm-mmﬁﬁaﬁwﬁ%mwaﬁq—mmﬁwﬁ
A) i pacd D
g O -
(E) 3rufa s i :-i
146 Frafafaa ¥ 3 Rarer e g we i fareda 2 \O
(A) Fa+smm o m
© Ffem+zw <p g + s <
(E) yaftawd ™ o
o0 0
147 Which of the following sthtement is not correct about the Chhota Nagpur Plateay Imf;s}rial region?
(A) This region owes ifs_fie\rclopmcnt to being rich in iron ore from Jharkhand-éﬁ‘ sha and coal from D™
Valley. ™
(B)  This region is popularly known as “Ruhr of India”. .
(C)  This region extend pver Jharkhand, Chhattisgarh and Andhra Pradesh, \mﬂ
(D)  Ranchi, Dhanbad, Cl aibasa, Sindri are some important industrial centres ui‘th'& region.
(E)  Question not atte ted ™
ﬁ%ﬁaﬁﬂﬁamw@awwaﬂaﬁmm*mﬁﬁuﬁmm o0
(A) mmmmw.@&mammmmmmmﬂma@mwm
(B) uUBEm MG & Ty, qm A faara ) v~
(C) w&ams.uﬁmahtmmwmgmal 1
(D) ﬂaﬁ.m,ﬂm.fm.mmﬂsw siteiifir & &
(E) i@y ‘
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148  Which of the following statement is nor correct about the Tertiary Coal?

(A) Itis found in the rocks of the oligocene period of the Tertiary Era.
| (B) Itisalso known as the brown Coal.
(C) Itisan inferior quality Coal.
(D) Itcontributes to about 25% of the total coal production of the country. [
(E)  Question not attempted
frerferfiaa & 8 0 A1 o eftres e 3 vt w78 22
(A)  T&TAH I F i wre 4t =zt i gran s 2
(B) T8 U I F T & oft S v
(C) T e TV W e g )
(D) % 31 % e BT IeqTeA H 25% 77 35972 Fa7 21
(B) srgafawa
149 Karewa formation are useful for the cultivation of
(A) Coffee ' :
(B) Zafran/Saffron ’ .
(C) Cotton
(D) Jute §
(E)  Question not attempfed
T T (i) Fareh el 3 fer g 3
(A) . : o -
(B) & '
(C) =™
® '
(E) sraf@yua
150 Which of the following river is right bank tributary of the Ganga River System?
(A) Ghaghara
(B) Ramganga
(C) Son »
(D) Gomti !
(E)  Question not attempted
Pt i 1 e et iy s e o e s 4 82
(A) =M=
(B) Ty
©) wm
D) iy
(B) srqafa gy
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